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Directions (Q.14-16):-  Choose the correct preposition to be filled in the gaps in the

following sentences out of the four given options:-

14.

15.

16.

Seeta finally managed to break free ...... her attacker.

(A) from (B) with (C) by (D) through
I wish she knew what she was driving ....

(A) by (B) at (C) on (D) off
Venkat was lucky to get ..... with a small fine.

{A) on (B) through (C) off (D) by

Directions (Q.17-20):- Choose the correct synonym of the following out of the four

given options:-

17.

18.

19.

Adduce

(A) Cite (B) Reduce (C) Subtract (D) Addict
Debauched

(A) Cruel (B) Depraved (C) Dangerous (D) Bleached
Exasperate

(A) Entertain (B) Exhaust (C) Infuriate (D) Attract
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20.

Impolitic
(A) Apolitical (B) Impolite {C) Political (D) Unwise

Directions (Q. 21-23):- Choose the correct meaning of the following idioms out of the

four given choices :-

21,

[\
[N

23.

To nail one’s colours to the mast

(A) to be a good sailor (B) to be accessible to all
(C) to be pessimistic (D) to refuse to surrender
To come to a head

(A) to reach a crisis (B) to attain perfection
(C) to master something (D) 1o climb a mountain

To leave someone in the lurch
A)to aspire for his/her friend’s position B)to desert someone in a helpless condition
C) to plot a conspiracy D) to rob somebody in a journey.

Directions (Q.24 & 25):- Choose and mark the correct sentence out of the four given

options:-

24,

25.

26.

27.

28.

31.

(A) The population of London is greater then Jaipur.

(B) The population of London is greater than Jaipur.

(C) The population of London is greater than that of Jaipur.
(D) The population of London is greater than the city of Jaipur.

(A) Sachin is the greatest of all other batsmen.
(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other batsmen.
(D) Sachin is the greatest of all batsmen.

Who said “We are not Sikhs or Punjabis our religion was patriotism”

A) Sohan Singh Bhakna B) Lala Hardyal

C) Kartar Singh Sarabha D) Bhagat Singh

Who signed the Treaty of Amritsar (1809) on behalf of British Government
A) William Bentick B) Lord Auckland

C) Charles Theophilus Metcalfe D) Sir George Barlow

In which Cricket Test Match did the wicket keepers of both the teams bowl?
A) South Africa Vs India 1% Test 2013

B) England Vs Australia 2™ Test 2013

C) West Indies Vs New Zealand 2™ Test 2013

D) Pakistan Vs Sri Lanka 1* Test 2012

Which of the following sets of princely states are termed as Phuikian States?

A) Patiala, Malerkotla, Nabha B) Patiala, Jind, Malerkotia
C) Patiala, Nabha, Jind, Kapurthala D) Patiala, Jind, Nabha
Match the following:
River Ancient name of river

1. Beas a. Vipasha

2. Ravi b. Parushani

3. Chenab c. Asikini

4. Jhelum d. Vitasta

A) la, 2¢, 3d, 4b B) 1a, 2b, 3¢, 4d C) 1b, 2d. 3c, 4a D) id, 2¢, 3b, 4a

The subtitle of 12" Five Year Plan is

A) Growth with Justice
B) Growth with Social Justice
C) Faster, Sustainable and More Indubm, Growth
D) Accelerated Growth and Inclusive Growth
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33.

34

37.

38.

40.

4],

42,

43.

44.

World War II is often considered to be a turning point in history because
A) the League of nations demonstrated that an international organization could

maintain world peace
B) the war brought an end to dictatorships as a form of government

() European domination of the world began to weaken as nationalism in colonies

increased
D) religious and ethnic differences were no longer a source of conflict between

nations
Theory of Economic Drain of India during British Imperialism was propounded by

A) Jawahar Lal Nehru B) Dada Bhai Naoroji

C)R.C. Dutt D) M.K. Gandhi

National Statistical Day is celebrated in India in the honour of

A) Amartya Sen B) Radha Laha

C)C.R. Rac D) P.C. Mahalanobis

Which one of the following oil fields of India is the oldest oil producing field?
A) Bombay High B) Digboi C) Ankleshwar D) Naharkatiya

Yellow Book is
A) official publication of Italy and Iran B) official publication of Netherlands

C) official book of French D) official report of the Japanese Govt.
In Indian Polity which is supreme

A) The Supreme Court B) The Constitution

C) The Parliament D) Religion

The first hour of every sitting of the Lok Sabha is called

A) Question hour B) Public hour C) Zero hour D) Privilege hour
During which of following decades did population record a negative growth rate

A) 1921-31 B) 1911-21 C) 1941-51 D) 1931-41

Ladli Laxmi Yojna has been launched for supporting girls of all religions and castes
upto their marriage by

A) UP Government B) MP Government

C) Haryana Government D) None of the above

If the Cash Reserve Ratio is lowered by RBI. its impact on credit creation will be

A) favourable  B) adverse C) both favourable and adverse D) no impact
Which of the following disease is caused by virus

A) small pox B) tuberculosis C) malaria D) typhoid

Fish respire through the

A)nose B) lungs C) gills D) fins

One should not sleep in a closed room where a charcoal fire is burning because
A) Charcoal produces carbon monoxide which decrease oxygen content in air
B) Charcoal produces carbon dioxide which is injurious to health

C) Charcoal increases temperature in the room

D) none of these

In an earthen pot cooling of water depends upon

A) outside temperature B) atmospheric humidity
C) wind D) all of these
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46.

47.

48.

49.

50.

51.

54.

55.

56.

57.

58.

59.

60.

The scientist who first discovered that the earth revolves round the sun was

A)Newton  B) Dalton C) Copernicus D) Einstein

Which country awards the Nobel Prize

A) USA B) Sweden C)UK D) Ireland

Which Cricketer has been appointed brand ambassador of Border Security Force?

A) Sachin Tendulkar B) Virat Kohli C) M.S. Dhoni D) Rohit Sharma
Miss Universe 2013 Gabriela Isler is from

A) Venezuela B) Finland C) Greece D) Australia

Rating Agency ICRA slashed India’s GDP growth estimate tc __in Financial
Year 2014.

A) 4.9 percent B) 3.9 percent C) 4.1 percent D) 4.3 percent

In a certain code, ‘REFRIGERATOR is coded as ‘ROTAREGIRFER'. How would
the word ‘NOITINUMMA'’ be coded?

A) ANMOMIUTMI B) AMNTOMUIIN

C) AMMUNITION D) NMMUNITIOA

According to certain code

i) ‘min fin bin gin’, means ‘trains are always late’

ii) *gin din c¢in hin’, means ° drivers were always punished’

iii) *bin cin vin rin’, means ‘drivers stopped all trains’

iv) “din kin fin vin’, means ‘all passengers were late’

then ‘hin min kin’ would mean

A) always late trains B) passengers are punished
C) all passengers late D) passengers are late

If the animals which can walk are called ‘swimmers’, animals who crawl are called
flying’, those living in water are called ‘snakes’ and those which fly in the sky are
called ‘hunters’, then what will a lizard be called?

A) swimmers B) snakes C) hunters D) flying
Which one set among the following is similar to given set

Given set : (8, 3, 2)

Alternatives:

A) (10,6, 5) B) (63, 8, 3) C) (95,24, 5) D) (168, 15, 4)
Find the pair among the alternative having the same relationship as the first pair has
Aryabhatta : Mathematician :: Varahamihira:

A) Physician B) Astronomer &) Scientist D) Architect
Find the one that does not belong to tre group 2.3.9,27, 112, 565, 3396

A) 565 B)9 C)112 D) 27
Complete the series C, Z, F, X, [, V, L. T, 0,7, 7,

A)O,P BYP,Q C)R,R D)S,R

The given series of letters have a definite pattern. Some terms are missing in the
series. One among the given alternatives has the same order

Given series: abca _bcaab _ca _bb: _a

Alternatives:

A)ccaa B) bbaa C) abac D) abba

Find the wrongly matched pair

i) Lion — roar ii) Snake — hiss iii) Bees — hum iv) Frog — bleat
v) Dog — bark

A) (@) B) (ii) C) (ii1) D) (iv)

Out of 4 groups below, 3 are alike in a certain way, one is different. Choose the
different one

i)yjkNors i)hIMnpgq iii)cDGhkI ivipqTUxy
A) (@) B) (ii) C) (iii) D) (iv)
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61. Find the next term 8, 28, 116, 584, 7
A) 1752 B) 3504 C) 3508 D) 3502

62.  Pointing to a lady in a photograph, a lady tells Pramod, “I am the only daughter of
this lady and her son is your maternal uncle”. How 1s the lady related to Pramod’s
father?

A) sister-in-law B) wife C) sister D) mother

63. If‘P$ Q means ‘P is father of Q’, ‘P #Q’ means ‘P is mother of Q’, ‘P * Q” means
‘P is sister of Q°, then how is D related to N in N#ASB*D ?

A)nephew  B) grandson C) granddaughter D) granddaughter or grandson

64. B is the husband of P. Q is the only grandson of E, who is wife of D and mother-in-
law of P. How is B related to D?
A) nephew B) cousin C) son-in-iaw D) son

63. Three persons A, B and C wore shirts of black, blue and orange colours ( not
necessarily in that order) and pants of green, yellow and orange colours ( not
necessarily in that order) No person wore pant and shirt of same colour. Further, A
did not wear black shirt, B did not wear blue shirt, C did not wear orange shirt, A did
not wear pant of green colour, B wore orange pant.
What were the colours of pant and shirt worn by C, respectively?
A) yellow and black B) yellow and blue
C) green and blue D) orange and black

66.  Inthe Olympic games, the flags of 6 nations were flown on the mast in the following
manner: The flag of US was to the left of Indian flag, and to the right of French flag.
The Australian flag was to right of Indian flag but was to the left of the flag of Japan,
which was to the left of the flag of China. Find the two flags which are in the centre

A) India and Australia B) US and India
C) Japan and Australia D) US and Australia
67.  Read the following information and answer the question

i) Gopal is shorter than Ashok but taller than Kunal
ii) Navin is shorter than Kunal
iii) Jayesh is taller than Navin
iv) Ashok is taller than Jayesh

Who is tallest among them
A) Gopal B) Ashok C) Kunal D) Jayesh

68. A sales representative plans to visit each of 6 companies M, N, P, Q,Rand S exactly
once during the course of one day. She is setting up her schedule for the day
according to following conditions
i) She must visit M before N and R
ii) She must visit N before Q
iii) The 3" company she visits must be P
Which of the following could be order in which she visits companies
AM,S,P,N,R,Q BYQ,N,P,R,S,M
OMRN,Q,P,S D)P,S,M,R,Q,N

Read following information and answer Q. Nos. 69, 70
On a playing ground, Dev, Kumar, Nilesh. Ankur and Pintu are steading facing North

1) Kumar 40m to right of Ankur ii) Dev is 60m to south of Kumar
iii) Nilesh is 25m to the west of Ankur iv) Pintu is 90m to North of Dev

69.  If aboy walks from Nilesh, meets Ankur followed by Kumar, Dev and then Pintu.
How many metres has he walked, if he has travelled the straizat distance all through?

A)215m B) 155m C) 245m D) 185m
70.  Who is at the North-east of the person who is to left of Kuriar?
A) Nilesh B) Ankur C) Pintu D) either Nilesh or Dev
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71.

~J
| 7

73.

74.

75.

76.

Two buses start from the opposite points of a main road, 150 km apart. The first bus
runs for 25 km and takes a right turn and then runs 15km. It then turns left and runs
for another 25km and takes the direction back to reach the main road. In the
meantime, due to a breakdown, the other bus has run only 35km along the main road.
What would be the distance between two buses at this point?

A) 65kms B) 75kms C) 80kms D) 85kms

Find the number of triangles in the Fig.

A)28 B) 32 C) 36 D) 40

Which one of the following combinations would have the identical water-image.
A)BCDFZK BYBCDEZK C)ZKOEDB DIBCDEOK

Complete the Fig. by replacing question mark (?) from given alternatives in Answer
Fig.

X
T

—XPX]| 0

A B C b

D

X
A

A)B B)C C)D D)A
Observe the dots on a dice (one to six dots) in the following Fig. How many dots are
contained on the face opposite to that containing four dots?

A)2 B)3 )6 D) cannot be determined.
.
‘; . i
® e 9

Replace the question mark in the Problem Fig. with an alternative out of Answer Fig.

UIRN GICRE. 0¥

|
!lo

A)A B)B o) C D)D
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77.

The following problem contains four un-numbered Figs forming the Problem Set and
5 other Figs numbered 1,2,3,4,5 forming the Answer Set. The 4 problem figures have
certain common features. Select a Fig. from Answer Figs. which posses the same
features as the Figs in Problem Figs.

e o P ® e © ® ¢ ® o e e0 ®
® o @ » | ® o_oloee| %
® o o o0 o ® oo o ®ole o °
1 2 3 4 S
A)l B)2 )3 D) S
Q. Nos. 78 to 81, refer to the following Venn diagram:
4 Geogr?phy
V\;}
3 j
Mathe{natics
78.  The number of students who took any three of above subjects
A) 62 B) 63 C) 64 D) 66
79, The number of students in total who took History or Mathematics or Science was
A) 183 B) 190 C) 202 D) 63
80. The number of students who took both History and Geography among other subjects
A) 62 B) 63 C) 65 D) 66
81, Which subject was taken by the largest number of students?
A) Mathematics B) Science C) Geography D) History
Read the following information and answer Q.Nos. 82-83
i) 11 students A, B, C, D, E, F. G, H, L, J and K are sitting in a row facing the teacher.
ii) D, who is to the immediate left of F, is second to right of C
iii) A, who 1s 2™ to the right of E, is at one of the ends
iv) J is the immediate neighbor of A and B and 3" to the left of G
v) H is to the immediate left of D and 3™ to the right of I
82.  Which of the foliowing groups of friends is sitting right of G?
A) IBJA B) ICHDF C) CHDF D) CHDE
83.  In the above sitting arrangement which one among following statements is
superfluous
A) only (1} B) only (ii) C) only (ii") D) none is superfluous
84.  The positions of 1" and 8" letters in the word WORKINGS are interchanged.
Similarly the positions of 21 and 7% letters are interchanged and positions of 3™ and
6% are interchanged and positions of remaining two letters are also interchanged with
each other. Which of the following will be the 3 “letter to the left of R after
rearrangements?
A)G B)I CiN D)S
85.  In the following alphabets, which letter is 8™ to the right of the 14" Jetter from the
right end?
ZABCDEFGHIJKLMNOPQRSTUVWXY
AYH B)R C)S D)T
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86.  Letters of the word have been jumbied up. Construct the word
RiMIAITIA|UE

1112 13141516 7
A) 2,3,4,1,5,6,7 B)3,1,2,5,4,7,6 C) 3,2,5,4,7,6.1 D) 4,1,3,2,6,5.7

87.  If each of the vowels in the word BREAK is kept unchanged and each of the
consonants is replaced by the next letter in the English alphabet, how many
meaningful words of four letters can be formed with the new letters using each letter
only once in each word?

A)O B)1 G2 D)3
88.  Ifitis possible to make a number which is perfect square of a two digit odd number
using the 2™ 4% ang 7 digit of the number 73 914 2 6 5 8 using each only once.
Which of the following is the 2™ digit of that two digit odd number?
A)3 B} S C) 7 D)9
Directions for Q. Nes. 89 & 90:
Consider a group comprising of 4 students- Reena, Beena, Meena and Neena, who stand
in 2 row. Reena and Beena stand in 6 and 7" positions respectively from the left.
Meena and Neena stand in the 4™ and 5™ positions respectively from the right. When
Beena and Meena exchange their positions, then Beena will be 15" from the left.

89. Originally, Neena’s position from the left is
A)S B) 13 C) 14 D) 16
90.  If Neena and Reena also exchange their positions between themselves then after the
exchange, Neena’s position from the left is
A) 6 B) 10 O 1l D) 13
91.  The priest told the devotees, “temple bell is rung at regular intervals of 45 minutes.
The last bell was rung five minutes ago. The next bell is due to be rung at 7.45 a.m.”
At what time did the priest give this information to the devotees?
A) 7.40 am. B) 7.05 a.m. C)7.00 am. D) 6.55 am.

92.  Which one among the following is mirror image of

‘MALAYALAM

(A) MALAYALAM @) WYrVYrvin
(C) MAJAYAIAM (D) MATAYAI'M

Study the following arrangement of symbols, letters and numbers to answer

Q.Nos. 93-95
5=ﬁF2*KS75#$PLV8@MUE6‘;‘QG+93‘:—TY—

93.  How many such letters are there in the arrangement each of which is either
immediately preceded by a symbol or immediately followed by a number, but not
both? ,
A)S B)6 )7 D)8

94, How many such consonants are there in the above arrangement each of which is
immediately followed by a consonant but not immediately preceded by a symbol?
A) nil B)1 )2 D)3

95.  Which of the following is exactly in the middle of the 9™ from left end and the 15"
from the right end in the above arrangement?
A)P B)U OE D)L

96.  Replace the question mark (?) with one of following alternatives:

R 10 2 7 72 11
| 6 | 56 % | 2 . 20 0
A)0 B) 3 Q)5 D) 7
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8.

99.

100.

101.

102.

103.

104.

105.

106.

109.

110.

111

Replace the question (?) mark with one of the given alternatives

A M B N
R C S D
E U F | ?
AYG B)R T Dyv

Answer Q. Nos. 98-100 on the basis of following informations
All the roads of a city are either perpendicular or parallel to each other. All roads are
straight. Roads A, B, C, D and E are parallel to one another. Roads G, H,LLJ,K, L

and M are parallel to one another

i) Road A is 1 KM east of road B ii) Road B is ¥2 KM west of road C
iii) Road G is % KM south of road H iv) Road D is 1 KM west of Road E
v) Road 1is 1 KM north of road J vi) Road K is ¥2 KM north of road L

viii) Road K is 1 KM south of road M

Which of the following is necessarily true

A) E and B intersect B)Dis 2 KM west of B

C) D is atleast 2 KM west of A D) M is 1.5 KM north of L

If K is parallel to I and K is % KM south of J and I KM north of G, which two roads
would be %2 KM apart?

A)Kand] B)land K C)Jand G DyJand H

If road E is between B and C, then distance between A and D is

A) % to 1.0 KM B)1 KM C)1.5t0 2KM D)2.0to 2.5 KM

The value of a for which the points (a + 5, a — 3), (a =5, a + 3), (a, a) are collinear is
(Ay a>0 (B)a<0 {C) no such a exists (D) any value of a

The day of the week on 26" June, 1816 was

(A) Sunday (B) Wednesday {C) Friday (D) Monday

Ten persons were arranged in a circle. The probability of two particular persons

standing adjacent to each other is

a1 1 2 .2

) 3 B)5 © ; )7

Three cards are drawn at random from an ordinary pack of cards. Find the probability

that they consist of a king, a queen and an ace.
6

64 .
(A) 22100 (B)sz % 51x 50 (©)

12
52+ 51+ 50

(D)None of these

The equation (az2 +bH) xX* =2 (ac+ bd) x + ¢ + d* = 0 has equal roots then

(A)ab=cd (B) ad =Vbc (C)al=bc (D) ab=Vcd

A reduction of 25% in the price of sugar enabies the person to get 10 Kg more on a
purchase of Rs. 600. What is the reduced rate of cagar?

(A)Rs. 25/Kg (B) Rs. 45/Kg (C) Rs. 35/Kg (D) Rs. 15/Kg
Which of the following rational numbers has a terminating decimal expansion?

, 129 1475 ' .79 . 6

(&) 225775 B %z © 255 ) 55
The lines x + 2y —4 =0 and 2x + 4y — 12 =0 are

(A) Coinciding (B) Intersecting (C) Parallel (D) perpendicular

The ratio of incomes of two persons is 9 : 7 and tre ratio of their expenditures is 4 : 3.
If each of them manages to save Rs 20 per month, then their monthly incomes are.

(A) 180, 140 (B) 18, 14 (C) 36, 28 (D) 1800, 1400
Which term of the Arithmetic Progression(AP) : 21, 18, 15,. .. is— 817
(A) 36 (B) 45 (C) 40 (D) 35

Pipe A can fill a tank in 20 minutes and Pipe B in 30 mins and Pipe C can empty the
same in 40 mins. If all of them work together, find the time taken to fill the tank.

(A) 17 71 mins (B) 20 mins (C) § mins (D) none of these
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112.

113.

115.

116.

117.

118.

119.

120.

121.

122.

124.

125.

Thirty men take 20 days to complete a job working 9 hours a day. How many hour a
day should 40 men work to complete the job?

(A) 8 hrs (B)7 % hrs (C) 7 hrs (D) 9 hrs

Find the smallest number in a Geometric Progression(GP) whose sum is 38

and product is 1728.
(A)12 {By20 (C)§ (D) none of these

A boat travels 20 kms upstream in 6 hrs and 18 kms downstream in 4 hrs.
Find the speed of the boat in still water and the speed of the water current?

(A) Y% km/h (B) — km/h (C) 5 kmv/h (D) none of these

A car takes 3 hours to cover a distance of 180 kms. If the distance is to be covered in
5/2 hours, what should be the speed of the car ?
(A) 72 kms/hr (B) 90 kms/hr (C) 36 kms/hr (D) 60 kms/hr
Lee is 6 years elder than her sister Sue and John is 5 years elder than Lee. If total of
their ages is 41 then Sue’s age is?7
(A) 19 years (B) 10 years (C) 14 years (D) 8 years
ABCE is an isosceles trapezium and ACDE is a rectangle such that AB = 10 and
EC =20. What is the length of AE?
(A) 15 (B) 20 (O)10 (D) none of these
Mr. Shah decided to walk down the escalator. He found that if he walks down 26
steps, he requires 30 seconds to reach the bottom. However, if he steps down 34 stairs
he would only require 18 seconds to get to the bottom. If the time is measured from
the moment the top step begins to descend to the time he steps off the last step at the
bottom, find out the height of the stair way in steps?
{A) 30 steps (B) 46 steps (C) 20 steps (D) none of these
Length of a tangent from a point P at a distance of 5 cm from the center ofa
circle is 4 cm. What will be the radius of the circle?
(A)Scm (B) 7 cm (C) % cm (D)3cm
If 12 men can do a piece of work in 80 days, in how many days will 16 men do 1t?
(A) 60 (B) 50 (C) 55 (D) 45
The angle between the hour hand and the minute hand of a clock at time 5:35 is.

4 0
(A) 60° (B) 40° (C)42 § (D) none of these

A man wants to cover a distance of 50 kms by bicycle. He goes at the speed of 12.5
im/h and takes rest for 20 minutes after covering each 12.5 km. How much time will

he take to cover the whole distance?
(A) 4 hrs (B) 5 hrs {C) 6 hrs (D) none of these
A wire in the form of a circle of diameter 21¢ms is cut and bent to form a square. The

side of the square is (assuming 70 = 22/7)
(A) 3372 (B)33 (C) 34 (D) 35

A drinking glass, of height 14 cm, is in the shape of a frustum of a cone. The
diameters of its two circular ends are 4 cm and 2 cm. Find the capacity of the §lass.
(A) 103 em® (B) 102 cm® (C)102. 67 cm® (D) 101cm

A toy train crosses 210 and 122 meter long tunnels in 25 and 17 seconds respectively.
The length of the train is

(A) 60 m (B) 73 m (C)40m (D) 65 m
Which data input method does mainly banks use for processing bank cheques ?
(A) OMR (B) Bar Code Reader (C) MICR (D) Light Pen
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Left or Right indentation in paragraph setting of MS-Word determines distance from
A) Left or Right Margin B) Left or Right Page Boundary
C) Gutter Position D) None of the Above

Directions: Assume this data to answer questions from 128 to 130

132.

134

135.

136.

A company has many sales persons selling different type of goods in various
states. It has recorded the following data for one month by various sales persons

(name column).

Isale

1 \

2 iPB |Ravi |Pen 3571
3 |HR |Ram |Dairy  |3338"
4 |HP |Sham|Pen  |5122
5 |CHD |Raju |Dairy = [6239
6 |DEL {Vasu |Produce |8677
7 {RAJ ' |Bedi’ {Copy 1450
8 ik simi[copy  |7673
9 |up |Goel |Produce |664
10 |uk |Garg |Produce [1500
11 |{MP sita |Meat  |6596

The formula =COUNTIF(C2:C11,"*uce") in cell D12 will result in

A) 11 B)3 0) 1 D)0

The formula =SUMIF(C2:C11,"'=Pen",D2:D11) in cell C12 will result in

A) 8693 B)2 C) 3571 D) 5122

The formula =CONCATENATE(REPT(0,3),RIGHT(D7,3)) in cell E8 will result in
A) 450000 B) 0.450 C) 000450 D) 450.000
Format Painter in MS-Office is used to

A) Paint the figures B) Copy format from one place to another

C) To paint various tables D) To insert figures using Paint Brush

You want to use multiple operating system like linux, windows etc. concurrently on
single machine. The best way to achieve this is:

A) Make machine multiple bootable like using GRUB

B) Use virtualization software like VMWare

C) It is not possible

D) None of these

In the context of MS-EXCEL spreadsheet software, the process of identifying
specific rows and columns so that certain columns and rows are always visible on

the screen 1s called

A) Freezing B) Locking (C)Selecting D) Fixing

Today’s desktop computers have typically *X" amount of main memory, *Y’ speed of
processor and ‘Z’ amount of hard-disk memory. Approximately X, Y, Z can be

respectively,

A) 4GB, 3kHZ, 1000GB B) 4MB, 3MHz, 1000MB

C) 4GB, 3GHz, 1000KB D) 4GB, 3.3 GHz, 1000GB

Which of the following is not a hard-ware:

A) Hard-disk B) RAM C) Processor D) MS-Office

From what location are the 1st computer instructions available on boot up of

Windows OS?
A) ROM BIOS B) CPU C) boot.ini D) CONFIG.SYS
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137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

You just installed a new IDE hard drive, but your system BIOS will not recognize the

new drive, what should you check first.
A) drivers that need to be loaded B) jumpers on the hard drive

C) cable sequence D) hard drive manufacturer web site information
Which of the following operating system you most likely will use on your laptop:

A) MS-Office B) Internet Explorer

C) Windows 7.0 D) Mozilla FireFox

Which type of printer works by using a charged drum to deposit particies of ink on
the paper?

A) Thermal printer. B) Inkjet printer.

C) Laser printer, D) Dot-matrix printer.

Mail merge is a feature likely to be found in which of the following software
packages?

A) Email program B) Desktop publishing program

C) Spreadsheet. D) Word processor

Which of the following may connect different international offices of a business?

A) LAN B) WAN C) PAN D) CAN

Gaining un-authorized access to a computer system would fall under which category
of computer crime?

A) Data theft. B) Theft of services.

C) Destruction of data and software. D) Hacking.

What is a motion path in MS-PowerPoint?

A) A type of animation entrance effect B) A method of advancing slides
C) A method of moving items on a slide D) All of the above

In the context of animations in MS-PowerPoint, what is a trigger?

A) An action button that advances to the next slide

B) An item on the slide that performs an action when clicked

C) The name of a motion path

D) All of above

Which of the following key will not advance the slides in a slide show in case of MS-

PowerPoint?

A) The esc key B) The space bar

C) The enter key D) The mouse button

A creates copies during replication that are functionally
equivalent but have distinctly different bit patterns.

A) Boot Sector Virus B) Polymorphic Virus

C) Parasitic Virus D) Macro Virus

You perform banking operations online. Which of the following are application-level
encryption protocols that you would most likely use to securely bank online?

A) SSL and SET B) Verisign and SHAL

C) READY, SET, and GO D) PGP, PEM, and SSL

In the context of MS-EXCEL spreadsheet software, what happens when dollar
signs ($) are entered in a cell address? (ex. $B$2:$B$100)

A)An absolute cell address is created.

B) The cell address will change when it is copied to another cell.

C) The sheet tab is changed.

D) The status bar does not display the cell address.
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149.

150.

In order to enhance performance of the computer, Disk defragmenter

A) consolidates parts of files lying at different locations on computer’s hard disk.
B) deletes temporary files related 1o Internet.

C) deletes temporary files related to backup.

D) All of the above.

The Recycle Bin is an area in Windows Operating System that contains only:
A)Files deleted from the hard drive.

B)Files deleted from CD-ROM

C)Files deleted from a 3.5-inch floppy drive.

D)Only B) and C)
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11.

12.

13.

PUNJABI VERSION

fam a3t & fimret &7 T A

(A) &9 (B)H'g (C) Quag (D) #=
g gfemt must §f ———--- g d1 myE udl 3

(A) TIAS §eT J (B)Ue &ar gev &

(C)gfeer ger (D) yafemm ger d

It fermags fog dtew g1t ©f fareat féat o

(A Uw (B)& (C)RT (D)yni'S
ar, €, o mae 35 faft fev &t 75

(A) THd (B) ferfie (C) fafamr (D) FrgTa
‘A? HYT €7 9U<96 O

(A) fentt (B) &nft (C) ot (D) &=t
IFET T UY T gre-<ud feime &t fastyt famt JEmit 7s:

(A) fgs (By¥d (C) U+ D&

r g& T GG wrfonr 7 @ I fefiont o9 ot O

(A)YI& I3 T& (B) nifsHeg g3 &

(C) it g3 & (D) MUds 93 TF

fafomr ferme € fada gu d< &

(A)MS (B)R I (O)& (D) s
‘@nrs’ mew E feRne gu O

(A) wrat (B) €maaT (C)8wg (D) @vrat agsT
a1z’ Few o 98¢ I Y

(A)gET (B)BEU (C) FEHt (D) AT
‘mmémnf?@ﬂ%m@m’,wﬁamfwmﬁmw&
(A) HgZ (B) AGdI (C) femfa (D) ATTS
‘ot at T

(A) FHT (B) Gu-g=T (C) fermage (D) faut
fam yrad fT Bua »ud w9 vy e, & faor Afer 4@

(A) BT (B) A=y (Cy Aedieat (D) Aot

Directions (Q.14-16):-  Choose the correct preposition to be filled in the gaps in the

following sentences out of the four given options:-

14.

15.

16.

Seeta finally managed to break free ...... her attacker.

{A) from (B) with {C) by (D) through
I wish she knew what she was driving ....

(A) by (B) at (C)on (D) off
Venkat was lucky to get ..... with a small fine.

(A)on (B) through (C) off (D) by

Directions (Q.17-20):- Choose the correct synonym of the following out of the four

given options:-

17.

18.

19.

Adduce

(A) Cite (B) Reduce (C) Subtract (D) Addict
Debauched

(A) Cruel (B) Depraved (C) Dangerous (D) Bleached
Exasperate

(A) Entertain (B) Exhaust (C) Infuriate (D) Attract
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20.

Impolitic
(A) Apolitical (B) Impolite (C) Political (D) Unwise

Directions (Q. 21-23):- Choose the correct meaning of the following idioms out of the

four given choices :-

21.  To nail one’s colours to the mast
(A) to be a good sailor (B) to be accessible to all
(C) to be pessimistic (D) to refuse to surrender
22. To come to a head
(A) to reach a crisis (B) to attain perfection
(C) to master something (D) to climb a mountain
23 To leave someone in the lurch
A)to aspire for his/her friend’s position  B)to desert someone in a helpless condition
C) to plot a conspiracy D) to rob somebody in a journey.
Directions (Q.24 & 25):- Choose and mark the correct sentence out of the four given
options:-
24, (A) The population of London is greater then Jaipur.

25,

26.

27.

28.

29.

30.

(B) The population of London is greater than Jaipur
(C) The population of London is greater than that of Jaipur.
(D) The population of London is greater than the city of Jaipur.

(A) Sachin is the greatest of all other batsmen.
(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other batsmen.
(D) Sachin 1s the greatest of all batsmeri.

feg maT far & 9% “wrt & 7y 9F 3 &7 It TAreY, ATET e €R-ga9rsT 97 -

(A) Aoe fiw ga& (B) &T Jafed™®

(C) FI379 fw a3 (D) ga13 fiwr
wiHg & ft (1809) §Ud Foga=! Feqd <8 fan & engyI 13 :
(A) festm &feq (B) 98 MaAB F

(C) 979 faSfesn Hea= (D) A3 77dH §798

fous owe faae e fog gt &t € fege-dtud’ & grea! J13T:
(A) BYST WEdlaT §a™ 793 -- UfasT ¢Ae 2013

(B) fEa8's H&™ WTHESHT —— EHT CHE 2013

(C) Zwe ezt o f58+i8s -- gaT 2He 2013

(D) UfaAS™S "o Ht Fa7 -- UfgsT 2He 2013

fanagt & faas fie & gwatt ae forar AeT At

(A) Ufem™T, HBJA BT, 5737 (B) ufenmaT, e, HBIACHT
(C) ufenraT, &797, HiE, TYIEST (D) ufemrsT, #fE, 5797
I fafr™ 7 HE™s d4: |

| oo o s &t |

1. form a. feum '

2. g b. UgHTET

3.959 c. MiAfast

4. HISH d. fegm3T i

(A) la, 2c, 3d. 4b (B) 1a, 2b. 3c,4d  (C) 1b, 2d, 3¢, 4a (D) 1d, 2¢, 3b. 4a
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31.

32.

33.

34,

33.

36.

37.

38.

39.

40.

41.

42.

12-2F U 7reT GraT oF Gu-Aasy H:

(A) fenrfe rfoz fedt (B) A fomfe & fedl

(C) wifge Fa, Afve W3 T4 AT<wt fdt (D) Ftgg et »3 mrwt fedt

gﬁmﬁgmkﬁmﬁmﬁamwﬁf&%-

(A)ma—ﬁm%qeafmaﬁs*faﬂsmﬁﬁamfaﬂemgmmwa‘d
AqeT At

(B) fem ©'T 57% S € U T FEHIAT T W Tfenr

(C) fere =t gaut ygIT awae 327 5y I8 fagfa andtn fev aHedeTe <Ue

(I))mmémmwmf@mﬁWHéﬁgwaﬁ

S93TSS AHaTHeTe g9t g3 € wrafed faarnt 7 At faw & ungs J1s Al

(A) ASIT &5 517 (B) @7 ITET &TIH]

(C)mg. /.83 (D). & . ardt

3797 fog gHest wasT foen fan € AavTs few Hatfen 7 &

(A) WHITIHT A& (B) a7 &7

(C)Ht. mmg. T8 (D) ut A, HigsTadin

9793 T {5937 439 AY T yTeT 3B §3UEd §39 O

(A) fg=t gt (B) fzorget (C) MaBHTd (D) gqariamT
Wigt uRsa T

(A) feest W3 giTs e Agdd1 YaHeS (B) Td@ 3+ € Hadd! YIRS
(C) ST €7 AITIT YIHE (D) AUTaT AdaTd ©F AgaTal falde
3733t ge-fe=my feg Fev-69 fagaT o

(A) FUd dd¢ (B) Afeu= (C) ARE (D) UaH

& A9 o 799 o © Ufgs Wie & »ie 75
(A) YRS T8 (Question Hour) (B) AegAfsd % (Public Hour)

(C) 1§ & (Zero Hour) (D) femmfudTg & (Privilege Hour)
faos vo f=9 AaffiT & sararand fedt ee fogres &t
(A) 1921-31 (B) 1911-21 (C) 1941-51 (D) 1931-41

mmwngmmémwwgmzmméz
wet fan =& gg &1t At &

(A) T AT, Agad (B) "M Y. AT

(C) TfamreT FAIEd (D) Gudas feg et =t 54t I
ﬁmlaﬁmmmwwwﬁ,@?@%@@mwm

[

J<dm

(A) FTfEd (B) feudls

() Forfee wa feudtg &< dt (D) &€t ygre 4T I

forgaT Far femrg ot e O

(A) 99 (B) 3ufed (C) HB3 ™ (D) TEREF
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43.

44

45.

46.

47,

48.

49.

50.

51.

32.

54.

(A)3F (B)3s3 (C) BT (D) ¥9=

fera3t § 87 f7 g few a0t Ao odter faw fog 98 & »f9r g% a9t 3=

fargfar:

(A) TBT T986 HEAAEIF Uer adeT J fAR &8 g<T feg wiartas € i3 we
T

(B) A8 IT995 STEMAATEF UeT a9 7 faust fAus st oataay

(C) IBT IHJ feg I & =u@er 4

(D) Gudaz feg et St 5ot @ -

et € 375 feg uet e 3 ge fan 3 faggg aae T

(A) ITIG8T IUHTE (B) Igvs® € 3+t

=g (D) feg A9

frw fefemirat & Ag 3 ufost &7 A1t fa fyg<t gom s Ut 3, B0 At
(A) fsBes (B) 3Be& (C) TUIBTEH (D) MretsHeTE s
faus o7 585 Yetg Yo g9er 3

(A)T.MH. €. (B) A<tz O)TH. (D) wead s
fagz foae fustdt & /v gafuni™ ¥ ©F 73 WERs9 fauas it famr o
(A) AT9® 3BT (B) fegre Ju=t

(C) ", WA, T&T (D) 3fT3 mavm

2013 & fHA Gal=dn Jra9sT fersq fad & 3

(A) SEHEBT (B) fes8F (C) T&'s (D) HASS DT

Tg-fsgugs €At ICRA & 793 © GDP feut nigws & 2014 ¢ &3 <97 &t
wer g R feam

(A) 4.9 Uf3m2 (B) 3.9 yf3ma (C) 4.1 Y373 (D) 4.3 yfaws
fear femm &9 fe9, ‘REFRIGERATOR’ & ‘ROTAREGIRFER’ feg d="yT &137
H7eT 71 HEe ‘NOITINUMMA'® § fa< a3 U i3 A<

(A) ANMOMIUTMI (B) AMNTOMUIIN
(Cy AMMUNITION (D) NMMUNITIOCA
feg fenw &8 MaH'9:

. . . ~ o . 2 . o
(i) ‘min fin bin gin’, € H3BYF J ‘trains are always late’

(ii) *gin din cin hin’, " H3B¥ J ‘drivers were always punished’

(iii) ‘bin cin vin rin’, € H3IBF T “drivers stopped all trains’
(iv) *din kin fin vin’ € H33¥ T ‘all passengers were late’
I* feg “hin min kin® €7 H3®¥ T
(A) always late trains (B) passengers are punished
(C) all passengers late (D) passengers are late
T TB AdS T8 et § swimmers’ MTidT 7T I, TIE T8 e & “flying’
it 7T I, uret few afge Sfent & ‘snakes’ M3 wra few 5T Tfent &
‘hunters’ W™ AFET I, 37 ‘lizard” & & ey Hr<aT™

(A) swimmers (B) snakes (C) hunters (D) flying
faogr feg e Aee s d:  fegr Ae: (8,3,2)

feazy:

(A)(10,6,5) (B) (63,8,3) (C)(95,24,5) (D) (168,15,4)
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55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

feamyt few §u 737 Wy aq fam = 79y ufed A8 € 1T <9 9%
Aryabhatta : Mathematician :: Varahamihira : -

(A) Physician (B) Astronomer (C) Scientist (D) Architect
€9 »id WgH g9 fAm =7 7¥T Ry 378 &4t &

2,3,9,27,112,565, 3396

(A) 565 (B) 9 (€112 (D) 27
fen 33t & yar aq:

C.Z,F,X,LV,L . T,0,?2, 7,

(A) O,P (B) P,Q (C) R.R (D) S,R

niygt o fogt & B3t v forfea Ueds T fer 52t feg gy uw arfeg o1 fe g
fegsut feg feg v s gy
f@3t ®3T: abca bcaab ca bbc _a

feasy:

(A) ccaa (B) bbaa {C) abac (D) abba
IF3 I FHE HSE dI3 1 § HBH 3

(i) Lion__ roar (ii) Snake _ hiss (iii) Bees_ hum
{(iv) Frog bleat (v Dog _ bark

(A) (1) (B) (ii) {C) (iii) (D) (iv)
Jot fe3 4 it <9, 3 feg 39 &7 A& 05, fed fos 71 fds AT vy aq:
()ikNors (ii) h IMnpq (i) ¢DGhkI (v) pgqTUxy
(A) (D (B) (i) (C) (iii) (D) (iv)
MIABTHE (7 ) HBH d4: 8,28, 116, 584, 7

AY1752 B) 3504 C) 3508 D) 3502

g¢ fegst gz =% fenar a9 &, fea »idz yHe & =rdl 3,“H fer »iee t feadst
§t 77 w3 §F T Fer IgTHH 17 @F e e yie ¥ fugt a7t famsT o

(A) fAres-fez-B7  (B) U3&T (C) & (D) HT3™

T PSQ’ T HIBY T, ‘P,Q € fUIT Y, ‘PHQ’ T HIBE T, ‘P,Q T HIT I, ‘P*Q’
TTHIBE T P,Q T §= I, 37 fed N#ASB*D? fe€ D & N &% &t forsT 3:

(A) &fe€ (B) qizAE (C)3IF8ed (D) 3[FFed A1 JSHG
B.P T Ut T1Q,E v feada di3As 4, fAaust DEtusast M3 Pt ANJIBE D
&% & fawsT T

(A) 8T (B) TH& (C) Tret (D) §er

AB W3 C st foraadtt & a8, S8 w3 A7 391 Eft afier ufastd™ gebmt
| (Fgd &t fa fom o feg T2) %3 99, Wi »3 A3t dar &t Uet ufaati 75
(Fg<t &4t fa few g few T@)1 far femaat & fea a1 & anfis w3 Ue 5t ufaat
58 A & T8 il &t ufgat T8, B & &18T anfla &t ufost 981, C & A9t adfl
ot ufgst T2, A & ot gar & U odf ufast, B & f3<t Ue ufoxst It AT

C TF ufgat U2 3 anfla € gH= 9 9971 &1 AS:

(A) TS W3 &7 (B) {i&™ M3 &18T

(C) T3 M3 31T (D) 13T 3 BT
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66.

67.

68.

Gifux 43t fe9, 6 IHeT © §F HAgs ST fer I9la s B gB T AR A& US &
§37 9937 §3 € ¥ UH, W3 TIHAT §F € A UH Al HTHSE T € §37 9931
¥3 € A1 UH Al, UIg AVS € ¥5 € 48 UH A, fios g5 € §8 € ¥9 U A
g7 € 83 HgH 3¢ frus d'ev feg e

(A) TTF W MTASHB T (B)W. MH. »F I

(C) AUS WM WSS (D) G AH W& WRESET

J&t fe'dt gusT § ug e yRs v §99 fe§:

(i) TUS AT I HUS™ U g&™% T BET T (i) S F&T& T HUTT T
(iii) 79H &G &7 SET T (iv) MHT FUH 578 B8 T
gt fegrs Fdgrde T

(A) TS (B) mHa (C) TEH (D) 7R

feq fSadt yfsfstt M, N, P, Q, R %I S 6 quah fed 799 3% foq few fag
fegas fea =9 Fer gget J1 €9 95 foy yfagur »igwe fog fos Twa wust
gHe fans gaet I

(i) 89 N»3 R I ufost M & fudait (i) €7 Q 3 ufgst N &% Avgaft
(iii) St quat faw g% GT Aedft, €T P g3t

ot Fuatit % G AEt I, @7 o 30 &t § FaeT 3

AM,S,P,N,R,Q B)Q,N,P,R,SSM C)MR.N,Q,P,S D)P,S.MR, QN

J57 fe 3t guaT § U3 M3 69,70 yuaT © €739 fe:

69.

70.

¥F © Ae's feg, T2, gnm, fa8w, #igg w3 iz €359 @5 Jo a9 9 u3 7&:

(i) IHTHITTAOM AR UHT (i) TS I € 60m THS TF T

(i) fSBE HIT T 25Sm UeH B I (iv) iz ee e 9m §saew T

H fea 3397 587 a& g&e J, W99, gHa, o< 3 feg fig & fiser 91 60 fas
Heg gfenwr T, 7 €9 figr ot ger faor 327

(A)215m (B) 155m (C) 245m (D) 185m
&7 fenast © €39-Ude ¥ d< T fAus™ gne € ¥ UH O
(A) fa3m (B) g9 O fig (D) At fs@w AT €=

€ g7 HY AST € feudls fienr T gaetit o5, fagt & gat 150km J1 ufost g7
25km 3T TBE I M AH B HF F 15km 98T J1 feg feo vo sx yaat I w3
25km 99 ¥%€! § MI HY AZd §UT yAS wet fuest forr <% 9%t 31938 §, 99
HTHT I 7S G99, ©HT §F HY ASd §uT d<% 35km 9@t J1 fow fiy GuT o7
(A) 65km (B) 75km D) 85km

Jufa 39 feg fadet €t farest e a9

(A) 28 (B) 32 () 36 (D) 40
faos Myg-1w ot Ut feg Ha® Ais J=4tt:
(A)BCDFZK (BBBCDEZK (C)ZKOEDB (D) BCDEOK
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74.

75.

76.

77.

78.

Tt fos feamyt fed yrs-fds (7) & o 39 & 3y f939 & HaHs Ja:

X X
|
|

@5
A | A

XPX|O

A B C D

(A) B (B) C (C)D {DyA
Jot oY Tufage fog Ui Gue o3 safon (fex 3 & ga3) § 281 979 gaignT
=% Uy € feudts U 8y fad 592 7&

(A)2 (B) 3 (C)6 (D) fsgutfaz &dT 13T &7 AGET
M Sufegs few uas-fag § €799 dufesqe feu o3 feasu &5 ge8:
T Sufa3e € g9 Jyfa3q

| |
e !

‘O@;HTD ?{  AILIN | BiL]
! "

A B C D
(A) A (B)B (C)C (DYD
wfeﬂmﬁwfeawm—mﬁ?wﬁeamfmmﬁnw:waaﬂ@?m
w3 5 gw Jyte3q fAgh € ma 1,2,3,4,5 T3, §3g9-Fe 5578 T&1 4 A TR
yfe'gst @ gy B2 A1Y I5| €399 Jurfoge fev feq qufe3q € §< a9, fame
M fager feg Jyfead © IS BES 75|

EXEE e o ® e @ 0|y 00 O‘,DE
| ® o ° 3 ® o _000s 4
o @ ® ece|o e oo 0e%eio o o

1 2 3 4 5
(A) 1 (B) 2 (C) 3 (D) 5
yAs 78-81, Jo i3 T dwfe 39 a& wifuz u&:

History
-

Geography

Mathematics

Science

WWSWW&?H@%T@K@H%% €at <t farest

T
(A) 62 (B) 63 (C)64 (D) 66
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79.

80.

81.

-~

82.

83.

84.

85.

86.

87.

88.

fefemragtyt €t a3 forest fagt & fefsom af gifes A feforrs @ fef 32 Fs:

(A) 183 (B) 190 (C) 202 (D) 63
S5t fefenragint €t farest fagt & J9 fefin o fefsom w3 g9t &8 Ao
(A) 62 (B) 63 (C) 65 (D) 66
fefenmaghvt &t Ag 3 21 foredt & faos femr fonr At

(A) Ffez (B) fefarnms (C) gai& (D) fefso™m

J&t fe'st HasT & ug W3 82-83 yHat ¥ §°39 fet:

(i) 11 fefemmast A, B,C,D,E, F, G, H, I, ] W3 K fea a39 feg miforrua == v
a9 J 55 T5| )

(i) D, fAIzTF e a8 YT UR I, C € AA UfRG g 31

(iii) A ¥ E € An UTRE ga7 7, €7 fea e 3 &7 31

(iv) J, A ™3 B € #ia &% ot et § wi@ G & ¥F ufaG Iar 31

(v) H,D € &% It " UR w3 [ © Ay yTRE It I

eI B fqusT AT G € AH U g7 &

(A) IBIA (B) ICHDF (Cy CHDF (D) CHDE
Ho< ¥ QuIas yiu few, feos™ gu5 a53 &
(A) T=F (i) (B) §2% (if) (C) 3= (iii) (D) Fet 2 T8 &t

HgY WORKINGS feg ufgs mig »ise »iygt &t Rigst § mruw feg ge8 fea
»UR few ges o3 AT J, »F gal € € niyat It At § S fea g+
&% gew fogr wer J| fen ygu fug’, fagsT »iyg R € ¥8 uR 39 wiyg J<arm

(A)G (B)I (C)N (D) 8
»Yyd J<Im:

ZABCDEFGHIJKLMNOPQRSTUVWXY

(AYH (B)R (C)S DT

REE € »Yar & yB3-HBI S1IT famf J| HEE 576
R IM /A T |A (U IE
12 13 la s 6 7
(A)2,3.4,1,5,6,7 (B)3,1.2,54.7,6 (C)3.2,5.4,7,6,1 (D) 4,1,3,2,6,5,7

& meT BREAK feg got § wmes dfve fogr m= w3 woa foims § Wt
TIEHST feT® »O® #ud 7% gEs fegT 7=, I 57 »udt &% ¥ wyd' ©
f&% weEYds AEE IS AT AaW 96, A9 feY ¢ f& 999 wew few 99w wrug €
3<% feq =19 =93 T9aT 4

(A)O (B) 1 (C) 2 (D) 3

STEfMT 739142658 ¥Ed, 94 M3 AI= wat € T3 g9 mHT Afem
ge0et fge I fAost € et S AftT € Yds T99T 99, Udg 999 W € d<8
feg =t 7 =93 qaat T faos wig 61 € wel T AfanT v gAT F 3

(A) 3 (B) 5 (C)7 (D) 9
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g fefonraght - diaT, dtaT, HiaT W3 aleT & AyT & fewrd frog fea a9 few
w951 deT WS diaT ¥E wRG red @<t w3 ASSt g 3 ughdt 35 HiaT
T alaT BE WG qped 9§t g iAer g 3yt 951 A9 dieT 73 HieT
Syt et & wrun fou gesedt 95, 37 deT v UiRE deest & 3 J=d
yns 89-90 ¥ €39 feb:

89. y&gufew, ata & ¥¥ uwfAG & &

(A) S (B) 13 (C) 14 (D) 16

90. H alar m diaT & MuEht et § wun few ses 8T 95, 3T a15T € ¥E
UrRE &t J:
(A) 6 (B) 10 (C) 11 (D) 13

o1. feg umrdt & wud Far9t § faar, “Yee o U@ fawfva gu feg 45 fire & Ide
fug' =ret 31 fusst Ut Uw fve ufost 7 At »arst Wt € €01 e7 A ARd
7.45 T T2ar”| YA & WU 313t § few pesT fas H fe St

(A)A=d 7.40 &0 (B)A=d 7.05 W
(CYR<T 7.00 T+ (D)A=d €.55Tn

92, fexgt fed fagzr ‘MALAYALAM’ =7 HiR fe9 »ferw J<at:

(A) MALAYALAM By WYTVYrvi
(C) MAJAYAIAM (D) MATAYAI'M

YHS 93-95 o §°39 g et fagt, Wya w3 war € Jot fe3t 39t & ug:
3=BF2*KS75#SPLVS@MUE61QG+93+TY~-
93. fom 39 fow wad »iud 4% 75 fagt fed oda € 399 ufost fis wr@er 3 #F
(A) S (B) 6 (©)7 (D) 8
94, GuIgg FaTtm fou wad fonms f36 os fAgt fe¥ 9o € 3393 fug fenms
(A) It &I (B) 1 (C)2 (D) 3

95. Guigz Ioo fou fausr e g 3 &< w3 HH 9 3 (eee © fasas feus &
(A)P (B)U (C)E (D)L

96. fea fe3 feamy 575 yrs-fig & ae&:

3| 8 | 10 ? 1
5156 9% | 2 {20 O
(A)0 (B)3 (C)5 (D)7
97. feg fed feasy 575 yas-fug § 5e&:
A M B N
R C S D
E U F 7
(A)G (B)R (O)T D)V
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.

Jof

98.

99.

100.

101.

102.

103.

104.

105.

106.

108.

109.

T fg'St guaT € Mg 3 98-100 YRS € §°39 fe6:

Hfgg St Frdtot AFat fed get € 77 37 ANdSd 36 7T AHGTIY 95 | ATdbHT AEET
fighr I&1 AB,C.D W3 E AIa fog ga € AaT3e 981 GHLIKL 3 M
Aaat fed g1 € ANTSTIT T5 |

() AASIBAIT TYITSE 1 kmIF T

(i) BHAITCHIT TUBHEB % km3 J

(i) GHASTHASE S 2¥e T8 %ikm3I T

(ivi DFSIENST TUBHTB 1kmITJ

vy IFSIJASd €€392% 1km3J

(vij KFASTLASd € 6€39T% %hkmId

(viii KASTIMAST €94 IF 1 kmI d

fags nifse<t gu feg Aat &

(A) Enm3 B feg g1 § deet o5 (B)D.BEUEHTZ 2km 3 J
(C)DATUBH BT W WZ2kmIT (D)MLETEIIETE 1.5km3J

7 K]l A3 33dns K, IT8US T® %kmI T wa GEE€39e® 1km T
3, 3 faogtt & A= Y km € g I Jeaint

(A) K M3 J (B)I MT K (CO)IJM3G (D) JMIH
A E ASd BT C ¥ 9aims 3,3t Am3 D S gdt &:
(A) % 3 1km (B) 1km (C)1.53 2km (D)2.0F 2.5km

a @YW, fA B (a+5, a - 3), (a -5, a + 3), (a,2) f&€ AW 75, O
(Aya>0 (B)a<0 (CO)wed o T JEtTeadtd (D)aT AT HE
26 5, 1816 & J&3 © fea H:
(A) M3 (B) U= (C)Fad=d (D) Ave™d
on fenadtnt § fow fag few gaditfen famrm 31 € feiw fenadtyt &t fea gH €
8% 5% ¥F I ©f fdat AgesT
A 5 (B) < © 2 (D) 2
AUs I fe9 {35 ufant § 89991 €97 &% afenr wer Ji fen fgee &
HBW &9 fal fegt ufamt feg feq srenrg, fer &9t 3 feq war &
64 64 12 o faet Frm S .
A e B e © Srw (D) fegt fes aet < &t
(a* +b%) x’-2 (ac+bd) x +c*+d*= 0 AHIFIE T AHS HE (root) I3, e
(A) ab=cd (B) ad =~/bc {C) ad = be (D) ab =+/cd
Uz ot a3 fow 25% a3t a9 &8 fed femast 600 gue €t wdte 3 10 fa&am
U EF YUI g9 AaET J1 ¥ € Wt ag &t 9

(A) 25 3Ug/kg (B) 45 Jue/kg (C) 35 gUT/kg (D) 15 gue/kg
farggt ufenor AfeyT @ ANTUE TAHSE YF'g J&:

‘ 126 , 1475 e _:9_ .6

W) B 0 © 310 Pl

X+2y—4=0 M3 2x+4y-12=0 Y= T&:

(A) IHUTSE (B) yfgged (C) AIH&T3Y (D) AHaET

& foagtrt St st T aigUTs 9:7 T3 89T € HaET T wgUTS 4:3
7 39 fenarat 20/- FUE Ut HdtaT g8veeT 4, 3T €5t et e nmreatdt 7s:
(A) 180, 140 (B) 18, 14 (C) 36, 28 (D) 1800, 1400
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110.

111.

112.

113,

114,

115.

116.

119.

120.

121.

122.

Airthmatic Progression (AP) : 21, 18, 15,..... € fagarue -81 &

(A) 36 (B) 45 (C) 40 (D) 35

ety A feg 2@ § 20 fiet fog 99 Aaet § w3 uEty B 30 et fev ga Aaet T
wJ urshy C ferm 8 § 40 five’ few uat g9 maet §1 7 feg At urehyT fed ot
M 935, I $H & II& BT AHT HBH &4

(A) 171 fie (B)20fie (C) 8 fire (D) feg’ fe¥ gt & 5t I
30 §2 9 Uie T&T A 99 & fed 90 § 20 foat few yay gav 951 40 §2 faa e
I 9 39 fa feg a 4aW T AE:

(A) 8 UIE <B)7%vﬂré“ (C) 7 urE (D) 5 Ure
Geometric Progression (GP) feg SwaW HAfer™ H@W 9 fAR & H% 38 M3
JSEeS 1728 d<:

(A) 12 (B) 20 (C)8 (D) fegt feg aet &t aat &
feq fama? Uar-yfags 6 We few 20 kms Bt I WF TI-»gagg 4 ue fev
18 kms 98! 71 45 Ut feg fanst € w3 yral € urgr €t 3837 HTEH Jd:

(A) % km/hr  (B) & km/hr  (C) Skm/hr (D) feg’ feg &t &t &t T
feq gm@ 180 Kms & gat 3 W2 fow 3wf guet T1 + feg gdt 572 dfenrt feg 3w
Faat 32, 3t gva ©f JeaT9 & JT It O

(A) 72 kms/hr (B) 90 kms/hr (C) 36 kms/hr (D) 60 kms/hr
FUS ST H T 6 IS T WS Hus BT T 5 AB T I A @t Fvorf gt T
72 413, 3§ & §va faat

(A) 19 A& (B) 10 A'® (C) 14 A'S (D) 8 F'&

ABCE RH-897g AH&Y § "3 ACDE feq »eg J 3t 7 AB=10 W3 EC=20. AE &
gt af 9

(A) 15 (B) 20 (C) 10 (D) feg fev aet & &t 3

fireg ITT & SIHaEeT It I8 T ©F aWsT digvl 7 €7 26 @4 98 & J&7
FreT ¥, 37 OF & Tot Wits 3T UZEs § 30 Afde A 751 UT 7 €T 34 UGS I57
=% AT 7 3 OF § o @s 39 une § 18 Afde Sa% IS5 geretmeg T
Suast =t 3 ot =5 A1 33 & JoT G I vt e JUS I AN G HTT
a2, I ged feg USt- Hiaar € 9T @K J4:

(A) 30 TEH (B) 46 deH (Cy20aeq (D) feg feg ger S a1 T
fEHfi?@&EET?Scmﬁgﬁé\'Pﬁg?@am—-%@mﬁ%m%,?@
ar fenrATey |t I=am

{A)S5cm (B) 7cm {C)9cm (D)3 cm
71269 few &g 80 foat feg vaW g9 Hae 05, 37 16 &< fem e & foa feat
feg g9aarn:

(A) 60 (B) 50 (C) 55 (D) 45
W=t 2 fitet TET get w3 difentt 51 FEt fegae 5:35 I d< T
(A) 60° (B) 40° (C) 42 5 0 (D) feg feg aet & &at 3

fog fem@ad? ATEE® QUT 50 kms € g4t 9 gdaT gger I1 €9 12.5 km/h €

TegT9 5% T8ET T W3 79 12.5 kms T8 fug 20 firet e wa qoe I €9

At Tat 3 595 feg faaT At B=am:

(A) 4 U (B) 5 Ure (C) 6 UIe (D) fegt feg Jet & a4t @
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123.

124.

126.

127.

21cms fon € feg € gy fevu feg 39 § o &3 AreT J 73 =991 578 3e
" Aer 31 Sgar S g T (n =227 W& )

(A) 33/2 (B) 33 (C) 34 (D) 35

14 cm €79 few I@™w feq &5 2 f€aa (gHeH) © wrag feg 71 G € € d@aw
frfent € f™ 4ecm W3 2cm T&! T®H T AHIE HTEBH &4

(A)103e¢m® (B) 102 om’ (C) 102,67 cm’ (D) 101 cm’

fea fuge arst 210 %3 122 Hieg gt FIaT § gH=T9 25 »3 17 Afae feg ug
gaet J1 ST €t St @

(A) 60 m (B) 73 m (C)40m (D) 65 m

g9 9a € URTATT W 39 3 faost 3o feaue feut (Data Input Method)
& 293 dde I8

(A) OMR (B)gdaz d8d  (C) MICR (D) rfee U

MS- €95 ¥ U9 €1 Aféar few, 8 7 A9 U'R THIT € 5% A9 48t 83" far T
gt fegufas gaer -

(A) Y= AT A AT JTHPHT (B) & &t ygt A7 At e
(C) aree Afaat (D) Qudas feg et St &at 7

feq quat € g3 A9 feadar 9 faes fefds gaf few @v @y yav v aimrs <3¢

J&i

fem & fefds fegdfamt € feqg Hats € J9F fed waad foagz a3 T&|

128 3 130 uwe@"aaea“mﬂ mzrfawam;amvs

128.

129.

130.

131.

132.

1 NamelTy
2 |PB " [Ravi |Pen
"3 JHR . |Ram |Dairy -
4 HP  [sham|pen
25 |CHD v |Raju |Dairy
6 |DEL »|Vasu |Produce |8677
7 |RAJ [Bedii[Copy {aso
8 UK - |simi |Copy" 7673
g JUpP. . Goel | Produce . 664
10 UK |Garg /[Produce’ |1500
11 iMP  [sita  |Meat  |6596
7® D12 feg §33 =COUNTIF(C2:C11,"“*uce”) €T UgfE™H J<Im:
(A)11 (B) 3 {O) 1 Dyo
A% C12 feg §=9 =SUMIF(C2:C11,*=Pen”, D2:D11) &7 ufge™ J=am:
(A) 8693 (B)2 (C) 3571 (D) 5122
A% E8 feg H3d =CONCATENATE(REPT(0,3),RIGHT(D7,3) € ufganr g<am
(A) 450000 (B)0.450 (C) 000450 (D) 450.000
MS- nifer feg grane Ued €t 293 faw =g &1t /et O
(A) fegdg U'e g9& met (B) fex g7 3 g+t g 3 andf g7ane

(C) fefds Araat’ Ue 395 Bt

(D) U'Z g99 &t ¥33° &9 fead AfHE 98 Set

3Rt feg Wits 3 5% &% FEisan, [&37 »rfe Todr fefeu nomss fAmedt &t
=93 q951 9T J1 fen § YUz 995 v HY 3 TUPAT IdaT I

(A) Hrts & gg-feu geu® ge@eT fAs” GRUB €t 93" &3&7

(B) VMWare <991 ¥HI(<AId96 Aecane €f 293 JaaT

() feg e adt @

(D) fegt fev' &€t St 54t 7
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133.

134,

135,

136.

137.

138.

139.

140.

143.

144.

145.

MS-EXCEL, RUSHT Aecomd € YFaT feu, feim aa’ w3 A39™ § vges ot
yfepr, 3 fq ferm a37at W3 RS9 IR Agls Gue fere afae, § wae Us:
(A) Siferar (B)Bfaar  (C) fAdaféar (D) feafrar

MALE € SHACY Jfugee feg femm gaa vy Mdt &t X’ Waar, UAFg &1 *Y
AiE W3 Tag-farg Anat & <2’ Wwaar §e1 J1 *X.Y.Z’ HSTT BIT9aT T AFET

A) 4GB, 3kHZ, 1000GB B) 4MB, 3MHz, 1000MB
C) 4GB, 3GHz, 1000KB D) 4GB, 3.3 GHz, 1000GB

T9F T faasT 59t 7

(A) TI5-f37 (B) RAM (OIS (D) MS- mrferm
fagst rfadt 3 fesw 0S € ge-wy 3 ufgshr Sfuges foerfeat Gusay 75
(A) ROM BIOS (B) CPU (C)bootini (D) CONFIG.SYS

gHT 9 &<T IDE  J79F FElE Barel, Wdg, U8 BIOS fAmer = gEte &
ALIaTg a9t g99r1 gUE UfosT &t §F q9aT 9ater O
(A)Feew g § 83 gaa @ 83T (B) I9F IElE I HudH

(C) T8 T (D) T795 FEi= feanreaasT & Budy Gud goa"
gt faas A& fAreH &t iy Budy §ug =U9 =93 gaan:

(A) MS-nfer (B) fEegde mMamuEde

(O fEST70 (D) Afa®T gfed San

o Gug fmmat € o8 uBT 8 9973 3H €t €93 ddd Ueg & fauat famy
& dg<t T
A) Tovw fleg B) feave fieg C) 33 fleg D) Se-Hfean fleg

WS Haw feq &fwe § fan © faod Aee @ne Uaw fev firse & fAg=aT &
{A) E-H® GarH (B) 3maey usfafiar Jard

(C) AUzHE (D) €35 UAAd

gTauTd © fef§a wggamedt e39 & faus d3 Aaer :

(A) LAN (B) WAN (C) PAN (D) CAN

&fu@ed fAamen 3o Me-wiufga ude gdaT, afufed »uay € faos <gar feg
nTEq:

(A) T g4t (B) A==t & 9t

(C) 37T »3 AeeMd & H3H J9&T (D) Jfaar

MS- yragunifee feg arat waar at o

(A) U'E-A979& U=H Yg'= &t fand (B) FETEIST & »idr 9a9s € feut

(C) FETEt QuT Wer § sege & fedt (D) Qudss 9

MS- Ur=g wnrfee feg yre-faasT © Aegy fov, feaw at &

(A) HIHE g2 fATsT "8t ABTES § »dl dger J

(B) A&Tets Que fea He fAost afea gas 3 grad J9et &

(C) Ir3t-Hraar &7 &°

(D) Gusas A9

MS-Ueg yne © an feg, faust o reTels yeors feg meest § »idl adt
gaer:

A)esc & (B)AURET (C) e &t (D) HgH 525
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146.

147.

148.

1469,

150.

——————— yf38 39 S5 gt gge ¢ fAg=t TEATSHIT 39 3 ANTS I5, Ud3

fegt € fae e feum gy fev fos oa

(A) g€ Aaed T1ean (B) Ushiafes =rfean

(C) Ugrtrfed =vfean (D) 7 = feam

IRt WissTets &4 GuIEs F9e T1 yGar U 3 Wafquns Teaw faosr I fanet
gt §9 & MoaTES H I J96 BT TUd TI3° F49n

{A) SSL M3 SET (B) Verisign M3 SHA1

(C) READY, SET "3 GO (D) PGP,PEM ™3 SSL

MS-EXCEL RUSHZ Aegend € yidl feg, 7€ F& Wadn fev g8 € fogf (§) &
Y_H d13T ATeT 37 (ex. $B$2:$B$100)

(A) fsrfag B'® Wson grfenT Aer J!
(B) A'® W39n ©F A gow Ariar A fen & fan evf A& feg anit g™ Arear
(O)We2gaeg Aer J

(D) AS2H 979 A% WSIH § &4 feyget

&fuBes T orad TUe BeT, fana &t sanied -

(A) &fued &t gus-fara Gug fefgd aret 3 uehf gretet € fofm & feasT
FaeT §

(B) feeade w& Aafuz »irget gvetsT § He@er &

(C) §F-7Y 578 Aifug wrEel eetet § fHe@er 4

(D) Gugaa 7rd
Frretas fus, (&89 Aoss fer fee §v mams § fan few g=s Afvfes der d:
(A) T98 FEIT I g et TEIsT (B) CD-ROM 3 & ¢t STEtsT

(C) 3.5 - féw eB Ut grele 3 T et gTEIsT (D) d=H (B) M3 (C)
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Instructions :

w

~d

Q)

10.

11.

13,

14,

Write your roll number on the Question Booklet and also on the OMR Answer Sheet onlyin
the space provided and nowhere else.

Enter the Question Booklet Number and Series on the OMR Answer Sheet by darkening the
corresponding bubbles with Biack/Blue Bali Point Pen only.

To open the Question Booklet, remove the paper band gently.

Check that the Question Booklet contains 150 Objective Type questions with multiple choice
answers. In case of any discrepancy, inform the invigilator within 10 minutes of the start of

test.

Each question has four aiternative answers A, B, C & D, of which only one is correct. Darken
only one bubble A, B, C or D, whichever you think is the correct answer, on the OMR Answer
Sheet with BLACK/BLUE BALL POINT PEN only.

All questions are of 1 mark each. THERE IS NEGATIVE MARKING. 1/4 marks will be
deducted for every wrong answer,

Rough work is to be done on the question bookiet only.
Do not make any identification mark on the OMR Answer Sheet or Question Booklet.

The Answer Sheet is designed for computer evaluation. If the instructions are not followed
properly, the candidate alone shall be responsible for the resultant loss so caused.

After the test, hand over the Question Bookiet and OMR Answer Sheet to the Invigilator on
duty.

Telecommunication equipments, such as calculators, pager, ceilular phone, wireless & blue
tooth devices etc. and weapons are not permitted inside the examination hall.

Nothing is to be copied/noted from the given OMR Answer Sheet and Question Booklet, and
be taken out of the Examination Hall. Any candidate found doing so would be expelied from

the examination.

A candidate who creates disturbance of any kind or changes his/her seat, or is found in
possession of any paper possibly of any assistance, or found giving or receiving assistance, or
found using any other unfair means during the examination will be expelied from the
examination. The decision of the Observer shall be finai.

The candidates will not be allowed to ieave the Examination Hall before the expiry of time.
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